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Automatic Enrollment and Savings Plan
Participation
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6x NBA champion
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14x NBA All-star
2x Olympic gold medal
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Why Does Automatic Enrollment Work

So Well at Changing Outcomes?
-*

0 Reason 1: Most people want to save for retirement
O Perceived need to save
O Financial reward through employer match

O Trust in the financial system

0 Reason 2: Automatic enrollment simplifies doing
what most people want to do



How Well Do Financial Incentives Work in

401 (k) Planse
I

0 Study of 401(k) plans at Fraction Contributing Below the
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Source: Choi, Laibson and Madrian, forthcoming Review of Economics and Statistics



How Does the Match Matter?
N

The Distribution of Contribution Rates at a Firm that Added
an Employer Match
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How Does the Match Matter?
N

The Distribution of Initial Contribution Rates at a Firm that
Changed Its Match Threshold
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Matching and Savings in IRAs

0 H&R Block Savings
experiment

O Tax filers offered
opportunity to direct

(part of) tax refund to
an IRA

o $300 minimum
contribution required

o Randomized match:
none, 20%, 50% on

contributions up to

$1000

Fraction Contributing to IRA

14%

No Match 20% Match 50% Match

Amount Contributed to IRA

$ 1 ,200 $],]02$],108 ..........
$1,000
$800
$600 -
$400 -
$200 -
$0 -

No Match 20% Match 50% Match

Source: Duflo, Gale, Liebman, Orszag and Saez (2006)



Matching and Savings in IDAs
N

0 Low income families interested in individual development accounts (IDAs)
randomized into participation

0 Match of 100% to 200% on contributions of up to $750/year for three
years

Impact of IDA Participation Offer on Net Worth after Three Years
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Source: Mills, Gale, Patterson, Engelhardt, Eriksen and Apolstolov (2008)



How Much Does the Match Matter When

Employees are Automatically Enrolled?
S
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Source: Beshears, Choi, Laibson and Madrian, 2010.



What If What is Easy and What People Want

Are Not the Same2—A Bad Default

I
100%

0 Large UK Company

0 Immediate automatic 80%
enrollment at 12% of

0 100% match on
contributions of 12-18%
of pay (no match on first 20%
12% of contributions)
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0%
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Source: Beshears, Choi, Laibson and Madrian, 2011.



How Do We Make Doing What People

Want Easy to Do?
-_

Change the product
0 Add a match
0 Manage liquidity
Change the context
0 Build trust
Change the process
0 Simplify
Reminders

O
0 Commitment devices
0 Decision tools

O

Social Support




Simplifying 401 (k) Enroliment and Savings

Plan Participation
S

m 401(k) enrollment e 26%
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0 Choose contribution rate 15% -
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o Simplified approach

Fraction of Employees
Participating at 3 months
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allocation and 0% -

contribution rate Regular  Simplified
Enrollment Enrollment

O Simple check box

Simplified enroliment process =
16 pp. increase (260%)

Source: Choi, Laibson and Madrian (2008)



Planning Aids and Savings Plan

Participation
-_
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Reminders and Savings Outcomes
-

0 Savings experiments in Amount Saved by Goal Date
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How and When to Use the Tools of
Behavioral Economics

What is the job at hand?
Which tools might help?
What are the constraints?

Given the constraints, which tool, or set of tools, is best?

O o O O 0O

Some jobs require more than one tool and cooperation



